Material Balance Investigation in the Coastal Paddy Field of Kahokugata- Lake
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Transition of T-N at the No.1 experimental paddy field (ponding or flowing water)
and irrigation water (water in the farm pond or pipe) in theirrigation period.
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Fig.3 T-P
Transition of T-P at the No.1 experimental paddy field (ponding or flowing water)
and irrigation water (water in the farm pond or pipe) in theirrigation period.
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Tablel 2003 T-N T-N balance for the 2003 years at No.1 experimental paddy field.
g/10a % g/10a %
Xt 678 13.7
41 0.8 342 6.9
N P 4,944 100 1,020 | 20.6
644 13.0 7,796 157.7
1,251 25.3 Y
1,894 38.3 Yiz
X2 3,826 77.4
XurtXno* 6,879 139.1 Yu+Yyot 12,642 | 255.7
2003 4 1 9 13 KnrtXn) - (YutYy)= -5,763
2003 9 14 2004 3 31 Xn=
Xiz= (YutYa)= -1,937
Table2 2003 T-P T-P balance for the 2003 years at No.1 experimental paddy field.
g/10a % g/10a %
1 Xp1 159 4.3
2 0.1 123 3.4
3,676 100 283 .7
0 0 3,839 104.5
0 0 Yp1
0 0 e
Xe2 1,143 31.1
Xpr+Xpot 3,678 | 100.1 Ypi+Ypt 5,265 | 143.2
2003 4 1 9 13 (XprtXp2) = (YprtYp2)= -1,587
2003 9 14 2004 3 31 Xp1=

Xz~ (Ypr+Ypp)= -444



